








































Homework 3 Mathematica Notebook

This is a discrete plot of the bessel sum for epsilon unity.

In[3]:=

DiscretePlot[BesselJ[n - 820, 1]^2, {n, 810, 830}, PlotRange → { 0, 1.} ]

Out[3]=

Now for epsilon = 0.1 we find that the power spectrum is very nearly unity for
one fourier mode.

In[4]:= DiscretePlot[BesselJ[n - 820, 0.1]^2, {n, 810, 830}, PlotRange → { 0, 1.} ]

Out[4]=



Now for epsilon = 40  we find that the power spectrum is broader:

In[8]:= DiscretePlot[BesselJ[n - 820, 40]^2, {n, 770, 870}, PlotRange → { 0, 0.05} ]

Out[8]=

The final part looks at the sum

In[10]:= Sum[ BesselJ[n - 820, 40.]^2, {n, 700, 900 } ]

Out[10]= 1.
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